Accelerated Math 3
Parametric Equations Worksheet

1. Fillin the tabie and sketch the parametric eguation for t [-2,6]
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Problems 2 ~ 11: Eliminate the parameter to write the parametric equations as a rectangular equation.
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Problems 11 and 12: Write two new sets of parametric equations for the following rectangular equations.
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Problems 13 — 15: Write a new set of parametric equations with the following transformations for x=1"-3
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16. For the curve (x + 5)” +y* = 4 complete the following:

_ x= -5 f2cost
a) Write a pair of parametric equations for the curve. \é = 25in +

b) Give an appropriate window and sketch the graph.

¢) How could you graph just the top haif of the curve?
d) How could you graph just the left side of the curve?
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17. For the ::ur'o..re—:lL...—1—6L = 1 complete the following: 6 X = -3 ced +
a) Write a pair of parametric equations for the curve. = 4 + &3
b) Give an appropriate window and sketch the graph. % :

¢} How could you graph just the right side of the curve?
d) How could you graph just the bottom half of the curve?

18. Graph the parametric equations using the window provided.
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a} Do the paths intersect or just cross? If the pathshere and when? ""'M“-t o‘)
"b) Change x, to 900t and then to 500t. What do you obsewe?j-h II inhrM Wins 300) v

19. Do the following sets of parametric equations cross or intersect? Justify your answer. "i) e
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Problems 26— 22: Use parametric equations to solve each situation.

20. Jack and Mark live 4 miles apart from each other on Baseline Road. At 6pm, their moms agree to let them
both leave and ride their bikes toward one another. If jack cen pedal 12 mph and Mark can pedal 8 mph,

where and when will the boys meet each other? 7 Ypiiles fromn ok ) oviz pee

21. Andrew’s dog Toby ran out of the house at 4pm and continued to run along Guadalupe Road without
stopping at a speed of 4 mph. When Andrew’s mom returned home from the grocery store at 4:30pm, she
and Andrew hopped in the minivan to retrieve Toby. If Andrew’s mom drove at a speed of 20 mph, when

and where will they find Toby? U3 Torec Py 2 'f;-_, W\;}ﬁ. "me house

12. - Adart is thrown from a point of 5 feet above the ground with an initial velocity of 58 ft/sec and angle of
elevation of 41°. Assume the only force acting on the dart is gravity.

o o
a) Write a pair of parametric equations to simulate the motion of the dart. x ) =5%+cos "_Y'l ,
b} Sketch a graph of the motion and give an appropriate window. 5Lﬂ 255 £ St et +5
c) What is the maximum height reached by the dart?
d) When and where will the dart hit the ground?



